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QUESTION 1

What happens if the identity of a user is known?

A. If the user credentials do not match an Access Role, the traffic is automatically dropped.

B. If the user credentials do not match an Access Role, the system displays a sandbox.

C. If the user credentials do not match an Access Role, the gateway moves onto the next rule.
D. If the user credentials do not match an Access Role, the system displays the Captive Portal.

Correct Answer: C

QUESTION 2

Which of the following actions take place in IKE Phase 2 with Perfect Forward Secrecy disabled?
A. Symmetric IPsec keys are generated.

B. Each Security Gateway generates a private Diffie-Hellman (DH) key from random pools.

C. The DH public keys are exchanged.

D. Peers authenticate using certificates or preshared secrets.

Correct Answer: B

QUESTION 3

Which Check Point address translation method allows an administrator to use fewer ISP- assigned IP addresses than
the number of internal hosts requiring Internet connectivity?

A. Hide

B. Static Destination

C. Static Source

D. Dynamic Destination

Correct Answer: A

QUESTION 4

Which operating systems are supported by a Check Point Security Gateway on an open server? Select MOST complete
list.

A. Sun Solaris, Red Hat Enterprise Linux, Check Point SecurePlatform, IPSO, Microsoft Windows
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B. Check Point GAIA and SecurePlatform, and Microsoft Windows
C. Check Point GAIA, Microsoft Windows, Red Hat Enterprise Linux, Sun Solaris, IPSO
D. Check Point GAIA and SecurePlatform, IPSO, Sun Solaris, Microsoft Windows

Correct Answer: B

QUESTION 5

You want to establish a VPN, using certificates. Your VPN will exchange certificates with an external partner. Which of
the following activities should you do first?

A. Create a new logical-server object to represent your partner\\'s CA.

B. Exchange exported CA keys and use them to create a new server object to represent your partner\\'s Certificate
Authority (CA).

C. Manually import your partner\\'s Certificate Revocation List.
D. Manually import your partner\\'s Access Control List.

Correct Answer: B
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